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Mechanical Engineering

1. For laminar flow in a pipe, average velocity is equal to:

(a) 2 U
max

(b) U
max

(c) 0.5 U
max

(d) 0.25 U
max

2. Crude oil of kinematic viscosity 2.25 stokes flows

through a 20 cm diameter pipe, the rate of flow being

1.5 litres/s. the flow will be

(a) Uncertain (b) Laminar

(c) Turbulent (d) Transition

3. The power transmitted by a belt is maximum when

the maximum tension in the belt compared to

centrifugal tension is

(a) 3-5 times (b) 2 times

(c) 3 times (d) 4 times

4. Effort lost in friction in a simple machine is:

(a) P-2P
0

(b) 2P-P
0

(c) P
0
-P/2 (d) P-P

0

5. Non uniform ramming of moulding sand may lead to

the following casting defect

(a) Scabs (b) Swells

(c) Blow holes (d) Bends

6. A bell Coleman cycle is

(a) Reversed stirling cycle

(b) Reversed Carnot cycle

(c) Reversed Joule cycle

(d) Reversed Atkinson cycle

7. For a centrifugal blower, power consumption is

proportional to:

(a) Cubic power of r.p.m.

(b) r.p.m.

(c) Square of r.p.m.

(d) Square root of r.p.m.

1. ikbi esa Lrjh; izokg ds fy, vkSlr osx fdlds cjkcj gksrk gSa \

(a) 2 U
max

(b) U
max

(c) 0.5 U
max

(d) 0.25 U
max

2. 2.25 LVªksd dks xfrt ';kurk okyk vifj"d`r rsy 20 lseh O;kl

dh ikbi ls 1.5 yhVj izfr lsd.M dh xfr ls izokfgr gks jgk gSA

izokg---------gksxk \

(a) vfuf'pr (b) Lrjh;

(c) fo{kqC/k (d) laØe.k

3. vidsUnzh ruko dh rqyuk esa csYV esa fdruk vf/kdre ruko gksus ij

iV~Vs }kjk lapfjr 'kfDr vf/kdre gksrh gSa\

(a) 3-5 xquk (b) 2 xquk

(c) 3 xquk (d) 4 xquk

4. ,d lkekU; e'khu esa ?k"kZ.k ds dkj.k fdruk vk;kl&{k; gksrk gSa\

(a) P-2P
0

(b) 2P-P
0

(c) P
0
-P/2 (d) P-P

0

5. lapdu ckyw dh vleku dqVkbZ ls fuEufyf[kr lapdu nks"k mRiUu

gks ldrk gSa %

(a) iiMh (b) LQhfr

(c) ckr fNnz (d) ufr

6. cSy dksyeSu pØ gSa\

(a) O;qRØe LVfyZax pØ

(b) O;qRØe dkjukWV pØ

(c) O;qRØe twy pØ

(d) O;qRØe ,sVfdUlu pØ

7. vidsUnzh Cyksvj esa fo|qr [kir fdlds lekuqikfrd gksrk gSa\

(a) r.p.m. dh ?ku 'kfDr

(b) r.p.m.

(c) r.p.m.dk oxZ

(d) r.p.m.dk oxZewy
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8. A reaction turbine (hydraulic) discharge 34 m3/s under

a head of 8m and with an overall efficiency of 91%.

The power developed in MW is:

(a) 4.32 (b) 3.24

(c) 2.43 (d) 2.34

9. The equivalent evaporation (kg/hr) of a boiler

producing 2000kg/hr. of steam with enthalpy content

of 2426 kJ/kg from feed water at temp, 400C (liquid

enthalpy = 168 kJ/kg; enthalpy of vaporization of water

at 1000C = 2258 kJ/kg) is:

(a) 1649 (b) 2000

(c) 2149 (d) 1682

10. For maximum work output in a two  stage expansion

gas turbine with perfect, the intermediate pressure

(P) has the following relationship with maximum

pressure (P
1
) and minimum pressure (P

2
) of the cycle:

(a) 1 2

1 2

P P
p

P P





(b) 1 2p P P

(c)
1/2

1

2

P
P

P

 
  
 

(d)

1/2

1 2P P
P

4

   
 

11. Discharge (Q) of a centrifugal pump is given by:

(a) fbV (b) fDV
(c) fbV (d) fdbV

        where, D = diameter of impeller at inlet

b = Width of impeller at inlet

fV = velocity of flow at inlet

12. When steam flows over moving blades of an impulse

turbine:

(a) Both pressure and velocity decreases

(b) Pressure drops and velocity increases

(c) Pressure remains constant and velocity decreases

(d) Both pressure and velocity remains constant

13. Electrode used in TIG is:

(a) Copper (b) Tungsten

(c) Aluminium (d) Cast iron

14. Maximum efficiency for a single pure impulse blading
(symmetric) with nozzle angle ‘ά’ is

(a)
2 a

cos
2
 
 
 

(b) cos

(c) 2cos  (d) cos
2

 
 
 

8. ,d vfHkfØ;k Vjckbu ;k m"ek pkfyr] 8 m m"ek ds v/khu vkSj
91%. dh dqy n{krk ds lkFk 34m3/s foltZu djrk gSa rks
MW esa fodflr 'kfDr gSa :

(a) 4.32 (b) 3.24

(c) 2.43 (d) 2.34

9. 40°C ls rkieku ij Hkj.k ty ls 2426 kJ/kg  fufgr ,UFkSYih
ls 2000kg/hr. Hkki mRiUu djus okys ckW;yj dk rqY;eku ok"iu
(kg/hr) fdruk gSa\ (nzo ,UFkSYih = 168 kJ/kg, 100°Cls ty
dh ok"iu ,UFkSYih  = 2258 kJ/kg) is:

(a) 1649 (b) 2000

(c) 2149 (d) 1682

10. f}&voLF k k i zl kj x Sl Vjc kbu e s a  i w . k Z r k  d s  l kF k
vf/kdre dk;Z fuxZr ds fy, e/;orhZ nkc (P) dk pØ ds vf/kdre
nkc (P

1
) vkSj U;wure nkc (P

2
) ds lkFk fuEufyf[kr ls D;k

laca/k gSa\

(a)
1 2

1 2

P P
p

P P




 (b)
1 2p P P

(c)

1/2

1

2

P
P

P

 
  
 

(d)

1/2

1 2P P
P

4

   
 

11. vidsUnzh iEi dk foltZu (Q) fdlds }kjk crk;k tkrk gSa\
(a) fbV (b) fDV
(c) fbV (d) fdbV
tgkWa, D = vUrxZe ij bEiSyj dk O;kl

b = vUrxZe ij bEiSyj dh pkSMkbZ

fV = vUrxZe ij izokg dk osx

12. tc ,d vkosx Vjckbu ds py&CysM ds mij ls Hkki izokfgr gksrh
gSa rks &
(a) nkc vkSj osx nksuksa ?kV tkrs gS
(b) nkc de gksa tkrk gSa vkSj osx c< tkrk gSa
(c) nkc  fLFkj  cuk  jgrk  gSa  vkSj  osx  ?kV  tkrk gSa
(d) nkc vkSj osx nksuksa fLFkj cus jgrs gSaA

13. Vh vkbZ th esa iz;ksx fd;k tkus okyk bySDVªksM gSa:
(a) rkWck (b) VaxLVu
(c) ,yqfefu;e (d) <yokWa yksgk

14. VksaVh dks.k ‘’ okys ,dy voLFkk fo'kq} vkosx Qyd ;k lefer
ds fy, vf/kdre n{krk gSa %

(a)
2 a

cos
2
 
 
 

(b) cos

(c) 2cos  (d) cos
2

 
 
 



SSC-JE 2014 (Objective Paper)

Engineering Career Tutorial 2007 All Right Reserved.     ECT Publications.     www.iesect.in     Mob. 9461673930
Premier institute for preparation of GATE IES & PSUs.  ECT Centre’s: Bajaj Nagar    Pratapnagar    Kukas    Ajmer

R 3

Mechanical Engineering

15. The crank pin is to be connected in the bush and the
dimensions for the bush and crank are given
Respectively of in mm 0.017

0.00016
0.035
0.06216

(a) 0.079 mm (b) 0.0079 mm
(c) 0.035 mm (d) 0.062 mm

16. How many links does a pantograph mechanism
contain?
(a) Ten (b) Two
(c) Four (d) Nine

17. A single-stage impulse turbine with a diameter of 120
cm runs at 3000 r.p.m. if the blade speed ratio is
0.42, the inlet velocity of steam will be:
(a) 900 m/s (b) 80 m/s
(c) 200 m/s (d) 450 m/s

18. For hydrodynamically smooth boundaries, the friction
factor for turbulent flow is:
(a) Dependent on relative roughness only
(b) Constant
(c) Dependent only a Reynolds number
(d) Function of Reynolds number and relative

roughness

19. An important factor to be taken into account while
designing a core print is:
(a) Pouring temperature
(b) Pattern Material
(c) Type of mould
(d) Moulding sand characteristics

20. The flow of water in wash basin through a central
opening is an example of:
(a) Rankine vortex (b) Free vortex
(c) Forced vortex (d) Rotational vortex

21. Which one of the following safety device is used to
protect the boiler when the water level falls below a
minimum level :
(a) Safety valve (b) Water level indicator
(c) Fusible plug (d) Blow off cock

22. One stroke is equal to :
(a) 1cm2/sec (b) 1m2/sec
(c) 1mm2/sec (d) 10 m2/sec

23. Euler’s number relates
(a) Inertia force and elastic force
(b) Inertia force and gravity force
(c) Inertia force and Pressure force

(d) Pressure force and viscous force

15. ØSad fiu cq'k esa tksMh tkuh gS vkSj rFkk ØSad dh fe-eh- Øe'k%
0.017
0.00016

0.035
0.06216 gSa cq'k vkSj ØSad ds chp vf/kdre varjky

fdruk gSa \
(a) 0.079 mm (b) 0.0079 mm
(c) 0.035 mm (d) 0.062 mm

16. isUVksxzkQ ;a=koyh esa fdrus fyad gksrs gSa ?
(a) nl (b) nks
(c) pkj (d) ukS

17. 120 ls-eh- O;kl okyk ,dy&voLFkk Lian Vjckbu  3000 r.p.m.
ij pyrk gSaA ;fn  CysM xfr vuqikr 0.42 gSa rks Hkki dk vUrxZr
osx D;k gksxk \
(a) 900 m/s (b) 80 m/s
(c) 200 m/s (d) 450 m/s

18. nzoxfrdh; likV ifjlhek ds fy, fo{kqC/k izokg ds fy, ?k"kZ.k xq.kkad
gSa :
(a) dsoy vkisf{kd :{krk ij fuHkZj
(b) vifjorhZ
(c) dsoy jsukWYM~l la[;k ij fuHkZj
(d) jsukWYM~l la[;k dk Qyu vkSj vkisf{kd :{krk

19. ,d ØksM fizaV dk fMtkbu rS;kj djrs le; /;ku j[kk tkus okyk
egRoiw.kZ rRo gSa :
(a) v/k%L=o.k rkieku
(b) iSVuZ lkexzh
(c) lkWaps dk izdkj
(d) lapdu ckye dh fo'ks"krk,Wa

20. ok'k csflu esa dsfUnz; foo`r }kjk ty dk izokg fdldk mnkgj.k gSa:
(a) jSfUdu Hkzfey (b) eqDr Hkzfey
(c) iz.kksfnr Hkzfey (d) ?kw.kZu Hkzfey

21. ckW;yj esa ty dk Lrj U;wure Lrj ls de gksus ij mldh lqj{kk
ds fy, fuEufyf[kr esa ls dkSu lh ;qfDr iz;ksx dh tkrh gSa \
(a) lqj{kk okYo (b) ty Lrj lwpd
(c) laxyuh; Iyx (d) vi/keu VksaVh

22. LVksd fdlds cjkcj gSa :
(a) 1cm2/sec (b) 1m2/sec
(c) 1mm2/sec (d) 10 m2/sec

23. vkW;yj la[;k fdlls lEcU/k gSa \
(a) tMRo cy vkSj ykspnkj cy
(b) tMRo cy vkSj xq:Ro cy
(c) tMRo cy vkSj nkc cy
(d) nkc cy vkSj ';ku cy
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24. The length of a pipe is 1000 m and its diameter is

20cm. if the diameter of an equivalent pipe is 40cm,

then its length is:

(a) 4000 m (b) 32000 m

(c) 20000 m (d) 8000 m

25. A casting defect which results in general enlargement

of a casting is known as:

(a) Swell (b) Shift

(c) Sand wash (d) Blow hole

26. A jet of water issues from nozzle with a velocity 20m/

s on a flat plate moving away from it at 10m/s. The

cross-sectional area of the jet is 0.01 m2 and the

density of water = 1000 kg/m3. The force developed

on the plate in newton’s is :
(a) 2000 (b) 9810

(c) 5000 (d) 7000

27. The total number instantaneous centers for a

mechanism consisting of ‘n’ links are:
(a) n(n-1)/2 (b) n/2

(c) n (d) (n-1)/2

28. Poisson’s ratio is defined as the ratio of:
(a) Shear stress to shear strain

(b) Longitudinal stress to Lateral strain

(c) Lateral strain to longitudinal strain

(d) Axial stress and axial strain

29. The product of circular pitch and diameter pitch is

equal to:
(a)  (b) Module

(c) Unity (d)
1



30. The figure shows four curves for velocity distribution

across a section for Reynolds number equal to 1000,

3000, 4000, and 5000. Curve A corresponding to

Reynolds number:

A

B
C

D

24. ,d ikbi dh yEckbZ 1000 eh- gSa vkSj mldk O;kl 20 lseh- gSA

;fn rqY;eku ikbi dk O;kl 40 lseh- gSa rks mldh yEckbZ gSa%

(a) 4000 m (b) 32000 m

(c) 20000 m (d) 8000 m

25. ml lapdu nks"k] ftlds ifj.kkeLo:i lapdu esa lkekU; ifjo/kZu

gks tkrk gS] dks D;k dgk tkrk gSa\

(a) LQhfr (b) f'k¶V

(c) ckyqdk iz{kkyu (d) okr fNnz

26. ,d VksaVh ls ty iz/kkj 20m/s osx ds lkFk piVh IysV ij tk jgk

gS tks 10m/s. ij blls ijs xfreku gSa A iz/kkj dh vuqizLFk dkV

dk {ks=Qy 0.01 m2 gSa vkSJ ty dk ?kuRo = 1000 kg/m3.gSA

U;wVu esa IYsV ij fodlhr cy gS

(a) 2000 (b) 9810

(c) 5000 (d) 7000

27. ‘n’ fyad okys ;a=koyh ds fy, rkR{kf.kd dsUnzksa dh dqy la[;k fdruh
gksrh gSa \

(a) n(n-1)/2 (b) n/2

(c) n (d) (n-1)/2

28. Ioklksa vuqikr dks fdl vuqikr ds :i esa ifjHkkf"kr fd;k tkrk gSa\

(a) vi:i.k fod`fr ls vi:i.k izfrcy

(b) ik'ohZ; fod`fr ls vuqnS?;Z fod`fr

(c) vuqnS?;Z fod`fr ls ik'ohZ; fod`fr

(d) v{kh; fod`fr ls v{kh; izfrcy

29. o`rh; varjky vkSj O;klh; varjky dk xq.kuQy fdlds cjkcj

gSa\
(a)  (b) ekWM;wy

(c) ;wfuVh (d)
1



30. fp= esa 1000, 3000, 4000, 5000 ds rqY; rqjar jsukWYM~l la[;k

ds fy, izfrPNsn ds vkjikj ';kurk forj.k oØ n'kkZ;k x;k gSA oØ

A fdl jsukWYM la[;k ds vuq:i gSa \

A

B
C

D
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(a) 5000 (b) 1000

(c) 3000 (d) 4000

31. The dimensions of the surface tension tension are:

(a) [M1L0T2] (b) [M1L0T-2]

(c) [M1L1T-2] (d) [M1L-1T-2]

32. To prevent oscillation of the meniscus the length of

the connecting tubes should be:

(a) Unequal

(b) Large

(c) Small

(d) Equal to 10 times diameter

33. For an ideal gas the compressibility factor is:

(a) Some finite value greater than unity

(b) Zero

(c) Units

(d) Infinity

34. A body of mass 5 kg is pushed up to 2 m on a smoth

300 incline by a force of 60 N acting parallel to the

plane. The work done on the body is:

(a) Zero (b) 70.95 J

(c) 141.9 J (d) 35.47 J

35. Reheat factor for a multi-stage steam turbine is the

ratio of:

(a) Inlet temperature to the exit temperature

(b) Cumulative enthalpy drop to the total isontropic

enthalpy

(c) Total isentropic enthalpy drop to the total entropy

increases

(d) Total isentropic enthalpy drop to the exit

temperature

36. The purpose of the flywheel in an IC engine is:

(a) To regulate the fuel supply

(b) To keep the output power constant at the crank

shaft

(c) To increase the power capacity of the engine

(d) To reduce the vibration is an engine

37. The ratio of equivalent length of the column to

minimum radius of gyration is called as:

(a) Bulking factor (b) Factor of safety

(c) Poisson’s ratio (d) Co-efficient restitution

(a) 5000 (b) 1000

(c) 3000 (d) 4000

31. i`"B ruko dh foek,Wa gSa :

(a) [M1L0T2] (b) [M1L0T-2]

(c) [M1L1T-2] (d) [M1L-1T-2]

32. esfuLdl ds nksyu dks jksdus ds fy, lEcU/k V~;wc dh yEckbZ fdruh
gksuh pkfg,\
(a) vleku
(b) cMh
(c) NksVh
(d) O;kl ds 10 xquk ds cjkcj

33. vkn'kZ xSl dk laihM~;rk xq.kkad gSa %
(a) ,d ls vf/kd dksbZ ifjfer eku
(b) 'kwU;
(c) ,d
(d) vuar

34. 5 fdxzk ds nzO;eku dk fiaM lery ds lekUrj dk;Z dj jgsa 60N

ds cy }kjk 30° vkur LukFk ij 2 eh- rd /kdsyk tkrk gSaA fiaM
ij d`r dk;Z gSa \
(a) 'kwU; (b) 70.95 J

(c) 141.9 J (d) 35.47 J

35. cgq voLFkk Hkki Vjckbu ds fy, iqurkZiu dk vuqikr gS%
(a) fuxZe rkieku ls vUrxZe rkieku
(b) dqy le,UVªksih ,UFkSYih ákl ls lap;h ,UFkSyh ákl
(c) dqy ,UVªksih o`f} ls dqy le,UVªksih ,UFkSyh ákl
(d) fuxZe rkieku ls dqy le,UVªksih ,UFkSyh vuqikr

36. ,d vkbZ-lh- batu es a xfr ikyd pØ dk D;k iz;kstu gksrk
gS a\
(a) bZa/ku iwfrZ dk fofu;fer djuk
(b) ØSad 'kS¶V esa fuxZe 'kfDr dks fLFkj j[kuk
(c) batu dh 'kfDr {kerk dk c<kuk
(d) batu esa daiu de djuk

37. vf/kdre ifjHkze.k f=T;k ls dkWye dh led{k yEckbZ ds vuqikr
dks D;k dgk tkrk gSa \
(a) vkdqapu xq.kd (b) lqj{kk xq.kd
(c) Ioklksa vuqikr (d) izR;oLFkku xq.kkad
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38. The hot wire anemometer is used to measure:

(a) Liquid velocities

(b) Pressure in gases

(c) Discharge of gases and liquids

(d) Gas velocities

39. An engine oil of viscosity 22.5 × 10-2 (Per.s) is flowing

through a pipe of radius 1 m. average velocity of oil

through the pipe is 1.2 m/sec. if the velocity profile is

parabolic profile then maximum velocity of oil is:

(a) 2.4m/sec (b) 1.8m/sec

(c) 1.5m/sec (d) 3.6m/sec

40. In a 1 = 100 scale model of a harbour, time which

corresponds to the prototype tidal period of 12 Hrs

will be in Hr:

(a) 12 (b) 1

(c) 10 (d) 1.2

41. Two tensile forces, each of magnitude F are acting at

a point perpendicular to each other, then their resultant

force will be:

(a) 2 (b) Zero

(c) F (d) 2F

42. The Taylor’s correlation between the cutting speed
(V) and the tool life (T) is given by:

(a)
nV

T
 Constant (b) nVT Constant

(c) n

V

T
Constant (d) nV T  Constant

43. The co-efficient of discharge, velocity and contraction

Cd, Cv and Cc are related as:

(a) Cd = Cc-Cv (b) Cd = Cc/Cv

(c) Cd = Cc x Cv (d) Cd = Cc + Cv

44. The expression for capillary rise is given by when,

 surface tension,  -angle of contact and  density

(a)
2 sin

h
gd

 

 (b)

4 cos
h

gd

 



(c)
2 cos

h
gd

 

 (d)

4 sin
h

gd

 



45. Notch is a device used for measuring:

(a) Velocity through small channels

(b) Rate of flow through pipes

(c) Rate of flow through small channels

(d) Velocity through pipes

38. rIr rkj iou osx ekih dk iz;ksx fdlds ekiu ds fy, fd;k tkrk gSa\
(a) nzo osx
(b) xSlksa esa nkc
(c) xSalksa vkSj nzoksa dk foltZu
(d) xSl osx

39. 22.5×10-2 (Per.sec) ';kurk dk batu rsy 1 eh- f=T;k dh
ikbi esa ls izokfgr gks jgk gSA ikbi esa ls rsy dh vkSlr ';kurk
1.2 eh izfr ls- gSA ;fn osx izksQkby ijoyf;d izksQkby gSa rks rsy
dk osx gS
(a) 2.4m/sec (b) 1.8m/sec

(c) 1.5m/sec (d) 3.6m/sec

40. iksrkJ; ds 1 = 100 Ldsy ekWMy esa 12 ?ka.Vs dh vkfn iz:i Tokfj;
vof/k ds vuq:i ?kaVks esa le; gksxk
(a) 12 (b) 1

(c) 10 (d) 1.2

41. F ifjek.k okys nks ruu cy ,sls fcUnq ij dk;Z dj jgsa gSa tks ,d
nwljs ds yacfn'k gSa mudk ifj.kkeh cy D;k gksxk:
(a) 2 (b) Zero

(c) F (d) 2F

42. drZu xfr (V) vkSj vkStkj ds fVdkm iu (T) ds chp Vsyj ;g
laca/ku fdlds }kjk lwfpr fd;k tkrk gSa:

(a)
nV

T
 Constant (b) nVT Constant

(c) n

V

T
Constant (d) nV T  Constant

43. foltZu] osx vkSj ladqpu Cd, Cv and Cc ds xq.kkad dks fdl :i
esa lEcU/k fd;k tkrk gSa
(a) Cd = Cc-Cv (b) Cd = Cc/Cv

(c) Cd = Cc x Cv (d) Cd = Cc + Cv

44. dksf'kdh; mUu;u vfHkO;fDr }kjk O;Dr dh tkrh gSa] ;fn  i`"B]
ruko  Li'kZ dks.k  ?kuRo gSA

(a)
2 sin

h
gd

 

 (b)

4 cos
h

gd

 



(c)
2 cos

h
gd

 

 (d)

4 sin
h

gd

 



45. [kkWap ;k ukWp ;qfDr fdlds ekiu ds fy, iz;ksx dh tkrh gSa
(a) NksVs pSuyks }kjk osx
(b) ikbi }kjk izokg dh nj
(c) NksVs pSuyks }kjk izokg dh nj
(d) ikbi }kjk osx
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46. Which cross-section of a cantilever beam which is

loaded with UDL can give economical design:

(a) Square (b) Circular

(c) I-section (d) Rectangular

47. What torque is Nm is required to give 3m3/s of water,

a moment of momentum, so that it has a tangential

velocity of 3 m/s at a distance of 1.8m from the axis?

(a) 16200 (b) 157

(c) 2624 (d) 8138

48. The device which permits the connection and

disconnection of shafts is:

(a) Bearing (b) Connector

(c) Clutch (d) Pulley

49. Heating wet steam at constant temperature is the same

as heating at consonant:

(a) Entropy (b) Pressure

(c) Volume (d) Enthalpy

50. The term bleeding in a steam turbine refer to:

(a) Removal of wet steam in the low pressure stages

of turbine

(b) Leakage of steam

(c) Steam extracted for preheating feed water

(d) Steam doing no useful work

51. Which of the following is an extensive property?

(a) Temperature (b) Pressure

(c) Density (d) Enthalpy

52. The latent heat of evaporation of water at 100°C is

2560 kJ/kg. what is the change of entropy associated

with the evaporation?

(a) -25.6kJ/kg-k (b) 25.6kJ/kg-k

(c) 256x103kJ/kg-k (d) 6.86kJ/kg-k

53. Using lubricants on engine parts is an example of

reducing:

(a) Motion (b) Force

(c) Acceleration (d) Friction

54. One poise is equivalent to:

(a) 1 kg/m-hr (b) l gm/cm-sec

(c) 98 dyne/sec (d) 68 kgf-sec/m2

55. For maximum discharge, ratio of the pressure at the

exit and at inlet of nozzle (P
2
/P

1
) is equal to:

(a) [2/(n+1)](n+1)/n (b) [2/(n+1)]n/(n-1)

(c) [2/(n+1)](n-1)/n (d) [2/(n+1)]n/(n+1)

46. UDL ls Hkkfjr dSUVhyhoj dk dkSu lh vuqizLFk ifjPNsn lcls
larqfyr fMtkbu ns ldrh gS \
(a) oxZ (b) o`rh;
(c) I- ifjPNsn (d) vk;rkdkj

47. 3m3/s ty] laosx dk vk?kw.kZ nsus ds fy, Nm esa fdruk cy&vk?kw.kZ
visf{kr gksrk gS rkfd bldk v{k ls 1.8 eh- nwjh ij Li'kZ js[kh;
osx 3 m/s gSa \
(a) 16200 (b) 157

(c) 2624 (d) 8138

48. 'kS¶V dks lEc} vkSj vlEc} fdl ;qfDr ls fd;k tk ldrk gSa\
(a) cs;fjax (b) dusDVj
(c) Dyp (d) iqYyh

49. fLFkj rkieku ij vknzZ Hkki dk rkiu fLFkj-------- rkiu ds leku
gSa \
(a) ,UVªksih (b) nkc
(c) vk;ru (d) ,UFkSYih

50. Hkki Vjckbu esa fu%L=o.k 'kCn fdldk mYys[k djrk gSa\
(a) Vjckbu dks fuEu nkc voLFkkvksa ij vknzZ Hkki dks gVkuk
(b) Hkki dk {kj.k
(c) iwoZ rkiu Hkj.k ty ds fy, Hkki dk fu"d"kZ.k
(d) Hkki dk dksbZ mi;ksxh dk;Z u djuk

51. fuEufyf[kr esa ls dkSu&lk foLrkjkRed xq.k gSa\
(a) rkieku (b) nkc
(c) ?kuRo (d) iw.kZ m"ek

52. 1000C ij ty dh ok"iu xqIr m"ek 2560 kJ/kg. gSA ok"iu ls
lEc} ,sUVªksih ifjorZu D;k gSa \
(a) -25.6kJ/kg-k (b) 25.6kJ/kg-k

(c) 256x103kJ/kg-k (d) 6.86kJ/kg-k

53. batu ds iqtkZs esa Lusgd iz;ksx djuk fdl pht dks de djus dk
mnkgj.k gSa \
(a) xfr (b) cy
(c) Roj.k (d) ?k"kZ.k

54. ,d Iokt fdlds cjkcj gksrk gSa \
(a) 1 kg/m-hr (b) l gm/cm-sec

(c) 98 dyne/sec (d) 68 kgf-sec/m2

55. vf/kdre foltZu ds fy,] VksaVh ds fuxZe vkSj vUrZxe (P
2
/P

1
) ij

nkc dk vuqikr fdlds cjkcj       gS \
(a) [2/(n+1)](n+1)/n (b) [2/(n+1)]n/(n-1)

(c) [2/(n+1)](n-1)/n (d) [2/(n+1)]n/(n+1)
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56. The process of removing unwanted material from

the casting is called:

(a) Blowing (b) Clearing

(c) Finishing (d) Fettling

57. If in a diesel engine petrol is used then the engine will:

(a) Run at low speed (b) Explode

(c) Run at high speed (d) Run with high knocking

58. For a closed system, the difference between heat

added to the system and work done by the system, is

equal to change in:

(a) Entropy (b) Temperature

(c) Internal energy (d) Enthalpy

59. The indicator on a engine is used to determine:

(a) IHP and mcp (b) BHP

(c) Speed (d) Temperature

60. The circular pitch of a toothed wheel having 24 teeth

and module of 4.25 mm will be

(a) 8.50 mm (b) 1.35 mm

(c) 4.25 mm (d) 6.67 mm

61. The process in which no heat enters or leaves the

system is called as:

(a) Isentropic (b) Isobaric

(c) Isochoric (d) Isothermal

62. Two gases X and Y having the same temperature T,

the same pressure P and the same volume V are mixed.

If the mixture has the volume V and temperature T,

then the pressure of the mixture will be:

(a) 4P (b) P/2

(c) P (d) 2P

63. Which gas among the following has the highest value

of adiabatic index?

(a) Helium (b) Nitrogen

(c) Oxygen (d) Methane

64. Rotameter is a device used to measure:

(a) Rotation (b) Absolute pressure

(c) Velocity of fluid (d) Flow rate

65. The piston of a vertical piston-cylinder device containing

a gas has a mass of 60 kg and a cross-sectional area

0.04 m2. The entire system is placed in a vacuum

56. lapdu ls vokafNr lkexzh dks gVkus dh izfØ;k dks D;k dgk tkrk
gS\
(a) /keu (b) 'kks/ku
(c) ifj"dj.k (d) QsVyu

57. ;fn Mhty esa isVªksy dk iz;ksx fd;k tkrk gS rks batu:

(a) fuEu xfr ij pysxk (b) foLQksfVr gks tk,xk
(c) mPp xfr ij pysxk (d) mPp viLQksVu ds lkFk pysxk

58. ,d lao`r ra= esa, ra= esa ;ksftr m"ek vkSj ra= }kjk fd, x, dk;Z
ds chp varj fdlesa ifjorZu ds cjkcj gSa \
(a) ,UVªksih (b) rkieku
(c) vkUrfjd mtkZ (d) ,UFkSYih

59. batu esa D;k fu/kkZfjr djus ds fy, lwpd dk iz;ksx fd;k tkrk gSa\
(a) IHP and mcp (b) BHP

(c) xfr (d) rkieku

60. 24 nkWarksa vkSj 4.25 fe-eh- ds ekWM;wy okys nkWarsnkj ifg, dk o`rh;
fip ;k varjky fdruk gksxk\
(a) 8.50 mm (b) 1.35 mm

(c) 4.25 mm (d) 6.67 mm

61. ftl izØe esa dksbZ m"ek iz.kkyh esa izos'k ugha djrh ;k mlls ckgj
ugha fudyrh mls D;k dgk tkrk gSa\
(a) le,sUVªkWfid (b) lenkch
(c) levk;ruhd (d) lerkih

62. nksuksa xSlksa X vkSj Y ftldk leku rkieku T, leku nkc P vkSj
leku vk;ru V gSa] dks fefJr fd;k tkrk gSA ;fn feJ.k dk
vk;ru V vkSj rkieku T, gSa rks feJ.k nkc D;k gksxk \
(a) 4 P (b) P/2

(c) P (d) 2P

63. fuEufyf[kr esa ls fdl xSl dk mPpre :n~/kks"e lwpdkad eku
gSa\
(a) ghfy;e (b) ukbVªkstu
(c) vkWDlhtu (d) esFkSu

64. jksVk ekih dk iz;ksx fdlds ekiu ds fy, fd;k tkrk gS \
(a) ?kw.kZu (b) fujis{k nkc
(c) rjy dk osx (d) izokg nj

65. ,d m/okZ/kj fiLVu&flfyUMj ;qfDr, ftlesa xSl gS] ds fiLVu
dk nzO;eku 60 kg vkSj vuqizLFk dkV {kS=Qy 0.04 eh2 gSaA iwjs
ra= dks ,d fuokZr pSEcj esa j[kk x;k gS ;fn xSl dk rkieku
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chamber. If temperature of the gas is 700C. What is

the pressure of gas inside the cylinder? g =  9.8 m/s2

T = 70°C

m - 60 kg

A = 0.04 m2

(a) 0.7 bar (b) 0 bar

(c) 0.3 bar (d) 0.147 bar

66. The only angle on which the strength of the tool

depends, is:

(a) Lip angle (b) Clearance angle

(c) Rake angle (d) Cutting angle

67. The size of the gear is usually specified by:

(a) Pitch circle diameter

(b) Pressure angle

(c) Circular pitch

(d) Diameter pitch

68. The circumferential stress in a thin shell due to internal

fluid is given by:

(a)
2Pd

4


(b)

Pd

t

(c) 2

4P

d
(d)

Pd

2t

69. A long circular cylinder has a diameter D and length

L. The slenderness ratio of the column is:

(a)
L

D
(b)

L

D
 
 
 

(c)
2L

D
 
 
 

(d)
4L

D
 
 
 

70. Rivets generally specified by:

(a) Diameter of head

(b) Thickness of plates to be riveted

(c) Length of rivet

(d) Nominal diameter

71. A beam is fixed at one end and free at the other end.

A load acts in the center. The maximum bending

moment will occur at:

(a) Between center and fixed end

(b) Under the load

(c) Fixed end

(d) Free end

700C. gSa rks flfyaMj ds vUnj xSl dk nkic D;k gSa \
g =  9.8 m/s2

T = 70°C

m - 60 kg

A = 0.04 m2

(a) 0.7 bar (b) 0 bar

(c) 0.3 bar (d) 0.147 bar

66. vkStkj dk lkeF;Z dsoy fdl dks.k ij fuHkZj djrk gSa \
(a) vks"B dks.k (b) varjky dks.k
(c) ufr dks.k (d) drZu dks.k

67. fx;j dk vkdkj lkekU;r% fdlds }kjk fofufnZ"V fd;k tkrk gSa\
(a) fip o`r O;kl
(b) nkc dks.k
(c) o`rh; fip
(d) O;kl fipz

68. ,d ru q  d k s ' k  e s a  v k a r f jd rjy n kc d s  d kj . k
ifjf/kd izfrcy fdlds }kjk crk;k tkrk gSa\

(a)
2Pd

4


(b)

Pd

t

(c) 2

4P

d
(d)

Pd

2t

69. ,d yEcs o`rh; flfyaMj dk O;kl D vkSj yEckbZ  L. gSA dkWye dk
ruqrk vuqikr D;k gSa\

(a)
L

D
(b)

L

D
 
 
 

(c)
2L

D
 
 
 

(d)
4L

D
 
 
 

70. fjosV lkekU;r% fdlds }kjk fofufnZ"V fd, tkrs gSa \
(a) O;klh; 'kh"kZ
(b) fjosV dh tkus okyh IysVksa dh eksVkbZ
(c) fjosV dh yEckbZ
(d) vfHkfgr O;kl

71. ,d che ,d fljs ij fLFkj gS a vkSj nwljs fljs ij eqDr gSA
dsUnz es a ,d Hkkj iM jgk gSA vf/kdre cadu vk?kw.kZ dgkW a ij
gksxk\
(a) dsUnz vkSj fLFkj fljs ds chp
(b) Hkkj ds uhps
(c) fLFkj fljs ij
(d) eqfDr fljs ij
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72. vkca/ku lkeF;Z nsus ds fy, vk/kkj ckyw esa dkSu&lh lkexzh feykbZ
tkrh gSa\
(a) dksy pw.kZ (b) flfydk
(c) csUVksukbV (d) oqM ¶ykWj

73. Hkkjr esa okf.kfT;d :i ls miyC/k iSVªksy dk vkWDVsu fu/kkZj.k gSa%
(a) 85-90 (b) 20-30

(c) 40-50 (d) 60-75

74. f}&dqaMfyuh fx;j D;k gksrs gSa\
(a) f}&dqMafyuh fx;j
(b) NksVs nkWarks okys Lij fx;j
(c) cMs oeZ fx;j
(d) lfiZy fx;j

75. fuEufyf[kr fdl bZa/ku esa vf/kdre vf/kLQksVu izfrjks/k gksrk gS \
(a) n-gsIVsu (b) csathu
(c) VkywbZu (d) vkblks&vkWDVsu

76. vkdZ osYMu esa mRiUUk rkieku yxHkx fdruk gksrk gSa\
(a) 80000C (b) 10000C

(c) 35000C (d) 55000C

77. ,d ia[kk 60 rpm. dh le xfr ls ?kw.kZu dj jgk gSA 10 lsa- esa ;g
fdruk ?kkrd dksf.k; foLFkkiu djrk gS\
(a) 'kwU; (b) 10  rad

(c) 40  rad (d)  20  rad

78. cSjksehVj dk iz;ksx fdlds ekiu ds fy, fd;k tkrk gS \
(a) o"kkZ LRkj
(b) ikbiksa vkSj pSuyksa esa nkc
(c) ok;qeaMyh; nkc
(d) vR;ar fuEu nkc

79. 'kq}kyfEcr che ds ekeys esa vkyEc ij cadu vk?kw.kZ gSa \
(a) >1 (b) 'kwU;
(c) 1 (d) < 1

80. 1 eh- yEckbZ dh ,d 'kq}yfEcr che ij 0.4 N/m forfjr
Hkkj Mkyk tkrk gSA che es a gksus okyk vf/kdre cadu vk?kw.kZ
gSA
(a) 1.0 N-m (b) 0.1 N-m

(c) 0.05 N-m (d) 0.025 N-m

72. Which of the following material is added to base sand

to impart bonding strength?

(a) sea coal (b) Silica

(c) Bentonite (d) Wood flour

73. The commercially available petrol in India has an

octane rating of:

(a) 85-90 (b) 20-30

(c) 40-50 (d) 60-75

74. Herring bone gears are:

(a) Double helical gears

(b) Spur gears with small teeth

(c) Large worm gears

(d) Spiral gears

75. Which of the following fuel having maximum

resistance to detonation?

(a) n-heptane (b) Benzene

(c) Toluene (d) Iso-octane

76. In arc welding temperature generated is of the order of:

(a) 80000C (b) 10000C

(c) 35000C (d) 55000C

77. A fan rotates at a constant speed at 60 rpm. The total

angular displacement it makes in 10 sec is:

(a) Zero (b) 10  rad

(c) 40  rad (d)  20  rad

78. Barometer is used to measure:

(a) Rain level

(b) Pressure in pipes and channels

(c) Atmospheric pressure

(d) Very low pressure

79. Bending moment at the supports in case of simply

supported beam is:

(a) >1 (b) zero

(c) 1 (d) < 1

80. A simply supported beam of 1 m length is subjected

to a distributed load of 0.4 N/m. The maximum

bending moment occurring in the beam is:

(a) 1.0 N-m (b) 0.1 N-m

(c) 0.05 N-m (d) 0.025 N-m
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81. The maximum speed and minimum speed in r.p.m.

At a watt governor are 72 and 68 respectively. The

range of speed of the governor is:

(a) 4 (b) 2

(c) 8 (d) 6

82. The rate of change of moment of momentum represent

the:

(a) Power developed by the fluids

(b) Force exerted by fluid

(c) Torque applied by the fluid

(d) Work done by the fluid

83. Fan belt in automobiles is:

(a) E-section V belt

(b) A three layer flat belt

(c) A five layer flat belt

(d) B-section V belt

84. For a particular ideal gas, the value of R is 0.280 kJ/

kgK and the value of   is 1.375. The value of C
p
 and

C
v
 are, respectively, in kJ/kgK:

(a) 1.25, 0.8 (b) 1.0267, 0.7467

(c) 1.111, 0.66 (d) 1.2, 0.70

85. The compression ratio for diesel engine lie in the range of:

(a) 30 to 40 (b) 5 to 8

(c) 15 to 20 (d) 3 to 6

86. The degree of reaction of a Kaplan turbine is:

(a) Equal to 1

(b) Equal to 380

(c) Greater than zero but less than 1/2

(d) Greater than ½ but less than 1

87. A fluid with kinematic viscosity 0.4x10-4m2/s flows

through a 80 mm diameter pipe. The maximum

velocity for laminar flow will be:

(a) < 2m/s (b) < 10 mm/s

(c) < 1m/s (d) < 1.5 m/s

88. Which is not a part of magneto-ignition system?

(a) Condenser (b) Battery

(c) Induction coil (d) Circuit breaks

89. If the x-component of a force is negative and the y-

component is positive, the direction of that force must

lie in the:

(a) Fourth quadrant (b) First quadrant

(c) Second quadrant (d)Third quadrant

81. ,d okWV vf/kfu;a=d dh rpm. esa vf/kdre xfr vkSj U;wure xfr
Øe'k% 72 vkSj 68 gSA vf/kfu;a=d dk xfr ifjlj fdruk gSa \
(a) 4 (b) 2

(c) 8 (d) 6

82. laosx&vk?kw.kZ esa ifjorZu dh nj D;k ?kksf"kr djrh gS\
(a) rjy }kjk fodlhr 'kfDr
(b) rjy }kjk iz;ksx fd;k x;k cy
(c) rjy }kjk vuqiz;qDr vk?kw.kZ&cy
(d) rjy }kjk fd;k x;k dk;Z

83. vkWVkseksckby esa QSu csYV dSlh gksrh gS \
(a) E-lSD'ku V csYV
(b) rhu ijr dh piVh csYV
(c) ikWap ijr dh piVh csYV
(d) B-lsD'ku V csYV

84. fo'ks"k vkn'kZ xSl ds fy, R dk eku 0.280 kJ/kgK gSA vkSj
y dk eku 1.375. gSA kJ/kgK esa Øe'k% C

p
vkSj C

v
dk eku

gS\
(a) 1.25, 0.8 (b) 1.0267, 0.7467
(c) 1.111, 0.66 (d) 1.2, 0.70

85. Mhty batu ds laihMu vuqikr dk ifjlj gS%
(a) 30 to 40 (b) 5 to 8
(c) 15 to 20 (d) 3 to 6

86. dSIyu Vjckbu dh vfHkfØ;k dh ek=k gS %
(a) 1 ds cjkcj
(b) 380 ds cjkcj
(c) 'kwU; ls vf/kd fdarq 1/2 ls de
(d) ½ ls de fdarq 1 ls vf/kd

87. 0.4 × 10-4m2/s xfrt ';kurk okyk rjy 80 fe-fe O;kl dh
ikbi esa ls izokfgr gks jgk gSA LRjh; izokg ds fy, vf/kdre osx D;k
gksxk\
(a) < 2m/s (b) < 10 mm/s
(c) < 1m/s (d) < 1.5 m/s

88. fuEufyf[kr esa ls D;k eSXusVks izToyu ra= ugha gS \
(a) daMsUlj (b) cSVjh
(c) izsj.k daqaMyh (d) ifjiFk foPNsnd

89. ;fn fdlh cy dk x ?kVd _.kkRed gSa vkSj y ?kVd /kukRed gSa rks
ml cy dh fn'kk dgkWa gksuh pkfg,\
(a) pkSFkk prqFkkZa'k (b) izFke prqFkkZa'k
(c) nwljk prqFkkZa'k (d) rhljk prqFkkZa'k
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90. In a gear drive, module is equal to:

(a)
1

Diametral pitch (b)
1

Circular pitch

(c)
Circular pitch


(d)

Diametral pitch



91. The quantity, which is equal to rate of change of

momentum is known as:

(a) Impulse (b) Displacement

(c) Acceleration (d) Force

92. Multistage centrifugal pumps are used to obtain

high:

(a) Pumping of viscous fluids

(b) Discharge

(c) Head

(d) Efficiency

93. The diameter of core of a circular section is given as:

(a)
d

2
(b)

d

2

(c)
d

3
(d)

d

4

94. The path traced by a single particle of smoke issuing

from a burning wooden stick is a:

(a) Flow line (b) Stream line

(c) Streak line (d) Path line

95. What amongst the following is not related to a CI

engine?

(a) Flywheel (b) Fuel pump

(c) Fuel injector (d) Carburettor

96. The relation between the number of links (L) and

number of pairs (P) is:

(a) L = 2P - 3 (b) L = 2P - 2

(c) L = 2P - 4 (d) L = 3 – 2P

97. A Current meter is a device for measuring

(a) Viscosity (b) Velocity

(c) Current (d) Pressure

98. Density of water is maximum at:

(a) 2770 Kelvin (b) 00 C

(c) 00 Kelvin (d) 1000 C

90. ,d fx;j pkyu esa ekWM~;wy fdlds cjkcj gksrk gS

(a)
1

O; klh; vra jky (b)
1

o`rh; vra jky

(c) 
O; klh; varjky

(d) 
o`rh; vra jky

91. laosx esa ifjorZu dh nj ds cjkcj dh ek=k dks D;k dgk tkrk
gS\
(a) vkosx (b) foLFkkiu
(c) Roj.k (d) cy

92. cgq&voLFkk vidsUnzh iEi dk iz;ksx mPp-------------izkIr djus ds
fy, fd;k tkrk gSA
(a) ';ku rjy dks iEi djus ds fy,
(b) foltZu
(c) nkscksPprk
(d) n{krk

93. ,d orqZy ifjPNsn ds ØksM dk O;kl fdl :i esa crk;k tkrk gS

(a)
d

2
(b)

d

2

(c)
d

3
(d)

d

4

94. tyrh gqbZ ydMh dh rhyh ls fudyus okys /kq,Wa dk vuqjs[k.k iFk gSa
(a) izokg js[kk (b) /kkjk js[kh
(c) fud"k js[kk (d) iFk js[kk

95. fuEufyf[kr esa ls D;k CI batu ls lEc} ugha gSa
(a) ¶ykbOghy (b) bZa/ku iEi
(c) bZa/ku vUr% {ksid (d) dkcqZjsVj

96. fydksa (L) dh la[;k vkSj ;qXeksa  (P) dh la[;k ds chp laca/k D;k
gSa \
(a) L = 2P - 3 (b) L = 2P - 2

(c) L = 2P - 4 (d) L = 3 – 2P

97. /kkjkekih ;qfDr dk iz;ksx fdlds ekiu ds fy, fd;k tkrk gSa\
(a) ';kurk (b) osx
(c) /kkjk (d) nkc

98. ty dk ?kuRo fdl ij vf/kdre gksrk gSa \
(a) 277° dsfYou (b) 00 C

(c) 0° dsfYou (d) 1000 C
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99. An isothermal process is one in which:
(a) The pressure of the gas in the system is

proportional to the volume of the gas.

(b) The internal energy of the system under

consideration decreases during the change

(c) The heat transfer of the system under

consideration is zero

(d) The temperature of the system under consideration

remains constant during the change

100. In I.C. engine removing  the burnt gases from

combustion chamber of engine cylinder, is known as:

(a) Polymerisation (b) Scavengeing

(c) Supercharging (d) Detonation

99. lerkih izØe og gksrk gSa ftlesa
(a) iz.kkyh esa xSl dk nkc xSl ds vk;ru ds lekuqikrh gksrk

gSA
(b) iz.kkyh dh fopkjk/khu vkarfjd mtkZ ifjorZu ds nkSjku ?kV

tkrh gSA
(c) fopkjk/khu iz.kkyh dk m"ek LFkkukarj.k 'kwU; gksrk gSA
(d) fopkjk/khu iz.kkyh dk rkieku ifjorZu ds nkSjku fLFkj cuk

jgrk gSA

100.vkb Z -lh- b atu e s a  b atu flfyUMj d s ngu d{ k l s
nqX/k xSlksa dks fudkyus dks D;k dgk tkrk gS \
(a) cgqydu (b) viektZu
(c) vf/kdj.k (d) vf/kLQksVu

1 C 2 B 3 C 4 A 5 A
6 C 7 C 8 C 9 B 10 B
11 D 12 C 13 B 14 C 15 A

16 C 17 D 18 D 19 D 20 B
21 C 22 A 23 C 24 B 25 C
26 B 27 A 28 C 29 A 30 A
31 B 32 C 33 C 34 B 35 C

36 C 37 A 38 D 39 A 40 D
41 D 42 B 43 C 44 B 45 C
46 C 47 A 48 C 49 B 50 C
51 D 52 D 53 D 54 B 55 B

56 D 57 D 58 C 59 A 60 B
61 A 62 D 63 B 64 D 65 D
66 C 67 A 68 D 69 D 70 D
71 C 72 C 73 A 74 A 75 D

76 D 77 A 78 C 79 B 80 C
81 A 82 C 83 B 84 B 85 C
86 D 87 C 88 B 89 C 90 *
91 D 92 C 93 D 94 D 95 D

96 C 97 B 98 A 99 D 100 B

Answer Key


